
SIMPSON’S RULE HOMEWORK 
 
For exercises 1-5, use the given value of n to approximate the integral using Simpson’s Rule. 
Round off all computations to 4 decimal places. 
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6. A certain curve is given by the following pairs of coordinates: 
x 1 2 3 4 5 6 7 8 9 
y 0 0.6 0.9 1.2 1.4 1.5 1.7 1.8 2 
Use Simpson’s rule to approximate the area between the curve, the x-axis, x = 1 and x = 9. 
 
7. A certain curve is given by the following pairs of coordinates: 
x 1 2 3 4 
y 0 0.6 0.9 1.2 
Use Simpson’s rule to approximate the area between the curve, the x-axis, x = 1 and x = 4. 
 
THE ANSWERS ARE ON PAGE 2. 
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7. It is impossible to do this problem using Simpson’s rule since there are n = 3 subintervals and 
Simpson’s rule only works when n is even. 


